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Questions
1TMB=....... bytes
1KB=......... bytes

(1024) TB or (1,024)° bytes is equal to.

Which is group of eight bits, engough space to store sibgke ASCIl character?

The smallest amout of data to be stored in computer's memory is a 0 OR 1 is called

ASCII stands for

All the characters on your keyboard has an associated code in binary. This code is called

The convert a decimal number to binary, we divide the numberby ...... and take quotient and
remainder.

The binary value of the letter 'A' is 01000001 and its decimal value is.

A Number system is the system for representation of .............. data.

Which numer system has base 16 ?

Whcih number system has base 2?

Answers Choice

A. (1024)<sup>5</sup> bytes
B. (1024) KB or (1,024)
<sup>2</sup>

C. 3000

D. 400
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A. American Standard Code

B. Standard Insititute

C. Information code

D. American Standard Code for
Information interchage.

A. ASCII
. Unicode
. EBCDIC
.BCD
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. Boolean
. Value
. Numeric

. Hexa decimal
. Decimal

. Octal

. Binary
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